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2 SR8000
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SR8000

PROGRAM MAIN
PARAMETER(NN=10000000)
PARAMETER(NN2=3)

IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(NN),B(NN),C(NN),L(NN)
DIMENSION D(NN2)

WRITE(6,*) "Test start”

DO 5 1=1,60
CALL SUBL1(NN,A,B,L,1I)
CALL SUB2(NN,A,B,C,L)
CALL SUB3(NN,A,B,C,L)
CALL SUB4(NN,A,B,C,D,NN2)
CALL SUB5(D,NN2,S)
WRITE(6,*) I,"Sum=",S

5 CONTINUE

WRITE(6,*) "Test end”

STOP

END

2.1 sample.f

21 sample.f 5 SUB1 SUB2 SUB3 SUB4




SUB5 subl.f sub2.f
sub3.f sub4.f sub5.f 5

21

-Xfuncmonitor DO

-optlog 2.2

prompt> f77 -0ss -procnum=8 -optlog -c sample.f -Xfuncmonitor
prompt> f77 -0ss -procnum=8 -optlog -c subl.f -Xfuncmonitor

prompt> f77 -0ss -procnum=8 -optlog -c sub2.f -Xfuncmonitor
prompt> f77 -0ss -procnum=8 -optlog -c sub3.f -Xfuncmonitor
prompt> f77 -0ss -procnum=8 -optlog -c sub4.f -Xfuncmonitor
prompt> f77 -0ss -procnum=8 -optlog -c sub5.f -Xfuncmonitor
2.2

loggen
2.3
prompt> loggen sample.f - sample.log
prompt> loggen subl.f - subl.log
prompt> loggen sub2.f - sub2.log
prompt> loggen sub3.f - sub3.log
prompt> loggen sub4.f - sub4d.log
prompt> loggen sub5.f - sub5.log

2.3

*.log
-Ipl -parallel

24

prompt> 77 sample.o subl.o sub2.0 sub3.0o sub4.0 sub5.0 -1pl -parallel -o sample

24




APDEV_OUTPUT_TYPE TEXT

2.5
prompt> setenv APDEV_QUTPUT_TYPE TEXT :C
prompt> ./sample
25
pl_sample_24678_0.txt
24678 2.6

(Exe.R %)  :Execution ratio

(Par.E %) :Parallel efficiency

(Max. total):Total of the Max User Time for each info (=CPU elapse time).
< Process Information >

Node no. : 0

Process no. : 24678

Load file name : sample

User Time [sec] (Max. total) : 53.403911 (Par.E 12.50 %) ... (d)

< Function Information >

Function name o MAIN

Source file name : sample.f

Line no. : 8

Execution count : 1
(0-2) : 1 0 0
(3-5) : 0 0 0
(6-7) : 0 0

User Time [sec] Max) : 0.023781 (Exe.R 0.04 %) (Par.E 12.50 %) ... (b)

< Function Information >

Function name : SuBl

Source file name : subl.f

Line no. : 4

Execution count : 60
(0-2) : 60 0 0
(3-5) : 0 0 0
(6-7) : 0 0

User Time [sec] (Max) : 16.845119 (Exe.R 31.54 %) (Par.E 12.50 %) ... (¢)

< Function Information >

Function name - SUB2

Source file name : sub2.f

Line no. : 4

Execution count : 60
(0-2) : 60 0 0
(3-5) : 0 0 0
(6-7) : 0 0

User Time [sec] (Max) : 16.824714 (Exe.R 31.50 %) (Par.E 12.50 %) ... (d)




< Function Information >

Function name : SUB3
Source file name . sub3.f
Line no. : 3
Execution count : 60
(0-2) : 60 0 0
(3-5) : 0 0 0
(6-7) : 0 0
User Time [sec] (Max) : 9.861240 (Exe.R 18.47 %) (Par.E 12.50 %) ... (&)
< Function Information >
Function name : SUB4
Source file name : sub4.f
Line no. : 5
Execution count : 60
(0-2) : 60 0 0
(3-5) : 0 0 0
(6-7) : 0 0
User Time [sec] (Max) : 9.848676 (Exe.R 18.44 %) (Par.E 12.50 %) ... ()
< Function Information >
Function name : SUB5
Source file name : subs.f
Line no. : 4
Execution count : 60
(0-2) : 60 0 0
(3-5) : 0 0 0
(6-7) : 0 0
User Time [sec] Max) : 0.000381 (Exe.R 0.00 %) (Par.E 12.50 %) ... (9)
2.6
2.6 < Function Information > "User Time [sec]” b
g
2.1
2.1
[sec] [%]
MAIN 0.023781 0.04
SUB1 16.845119 31.54
SuB?2 16.824714 31.50
SUBS3 9.861240 18.47
SuB4 9.848676 18.44
SUB5 0.000381 0.00
53.403911 100.00




2.1 SUB1 SUB2

SUB3 SUB4 MAIN SUB5
1%
2.2 SUB1
2.1 SUB1 31.54[%)]
2.3 subl.log
2.7 DO

SUBROUTINE SUBL(NN,A,B,L,NC)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(NN),B(NN),L(NN)

**

** : _parallel_func_1_SUB1
**

**

**

o [DO 10]

XX

**%

DO 10 I=1,NN
L(D=I

A(1)=DBLE(NC)*DBLE(1)*1.0D-4
B(1)=EXP(A(1)*1.0D-5)

10 CONTINUE
RETURN
END
2.7 subl.log
SuUB1 DO 10
A
EXP EXP LOG SIN COS
DO
10
EXP
A(1)*1.0D-5
*voption pvfunc(2) -pvfunc=2 subl.f
subl.f

28 _hf_pvdexp




SUBROUTINE SUB1(NN,A,B,L,NC)

IMPLICIT REAL*8 (A-H,0-2)

DIMENSION A(NN),B(NN),L(NN)
*voption pvfunc(2)

**

** : _parallel_func_1 SUB1
**
**
**
o [DO 10]
folad (_hf_pvdexp)
**% (2 )
XX
**

DO 10 I=1,NN

L(D=I

A(1)=DBLE(NC)*DBLE(1)*1.0D-4
B(1)=EXP(A(1)*1.0D-5)

10 CONTINUE
RETURN
END
2.8 subl.log
subl.f
2.9
(Exe.R %)  :Execution ratio

(Par.E %) :Parallel efficiency

(Max. total):Total of the Max User Time for each info (=CPU elapse time).

< Process Information >

Node no. 0

Process no. : 24902

Load file name : sample

User Time [sec] (Max. total) : 41.455374 (Par.E 12.50 %) ... (h)

< Function Information >

Function name : SuBl

Source file name : subl.f

Line no. ' 5

Execution count : 60
(0-2) : 60 0 0
(3-5) : 0 0 0
(6-7) : 0 0

User Time [sec] (Max) : 4.925110 (Exe.R 11.88 %) (Par.E 12.50 %) ... (i)
2.9

26 (@ () 29 (h) )

2.2




2.2 SUB1
[sec] [sec]
53.403911 41.455374
SUB1 16.845119 4.925110
2.2 suBl 3 20%
SUB1
-Xparmonitor
2.10
prompt> f77 -0ss -procnum=8 -optlog -c subl.f -Xparmonitor

prompt> 77 sample.o subl.o sub2.0 sub3.0 sub4.0 sub5.0 -1pl -parallel -o sample

prompt> ./sample

2.10
211
< Parallel Information >

Function name : SuBl

Source file name : subl.f

Line no. 5

Execution count : 480
(0-2) : 60 60 60
(3-5) : 60 60 60
(6-7) : 60 60

User Time [sec] Max) : 4.919381 (Exe.R 11.86 %) (Par.E 99.97 %) ... (4)

(Total) : 39.342258 (Exe.R 51.84 %)

(0-2) : 4.919381 4.917095 4.917553
(3-5) : 4.917294 4.918263 4.917259
(6-7) : 4.918280 4.917134

LD/ST : 5351763360 (Exe.R 52.62 %) (Par.E 100.00 %) ... (k)
(Max) : 668970420
(0-2) : 668970420 668970420 668970420
(3-5) : 668970420 668970420 668970420
(6-7) : 668970420 668970420

Instruction count : 21801649093 (Exe.R 69.05 %) (Par.E 100.00 %) ... (D)
(Max) : 2725208184
(0-2) : 2725208184 2725205884 2725206166
(3-5) : 2725206139 2725205719 2725205634
(6-7) : 2725205686 2725205681

Floating-point arithmetic count : 18001300371 (Exe.R 83.91 %) (Par.E 100.00 %) ... (m)
(Max) : 2250163485
(0-2) : 2250163240 2250162367 2250162539
(3-5) : 2250163485 2250162197 2250162161
(6-7) : 2250162289 2250162093

MIPS : 4431.787262
(0-2) : 553.973824 554.230890 554.179323




(3-5) : 554.208557 554.099186 554.212353
(6-7) : 554.097305 554.226481
MFLOPS : 3659.261432
0-2) : 457.407820 457.620284 457.577693
(3-5) : 457.602029 457.511532 457.604979
(6-7) : 457.510003 457.616622
211
211 () (m) Parallel efficiency 100% SuUB1
IP Instruction Processor
SUB1
@
@
2.3 sSuB2
2.1 sSuB2 31.50[%]
sub2.log DO
2.12

**

**

**

**

**%

**%

**%

**%

**%

**

**

**

**

**

**

**

*%

30
20

SUBROUTINE SUB2(NN,A,B,C,L)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(NN),B(NN),C(NN),L(NN)

: _parallel_func_1 SUB2

I : TLOCAL
DO 20 J=1,NN/500-1
C(J)=0.0D0

[0 30]
(G

DO 30 1=1,L(J)

C(I)=C(I)+A(DH+B(D)
CONTINUE
CONTINUE

[DO 40]




**
DO 40 J=NN/500,NN
C(JI)=A)+B)

40 CONTINUE
RETURN
END
2.12 sub2.log
suB2 2 DO20 D040
SuUB2 -Xparmonitor
2.10
2.13
< Parallel Information >
Function name - SUB2
Source file name : sub2.f
Line no. : 4
Execution count : 480
(0-2) : 60 60 60
(3-5) : 60 60 60
(6-7) : 60 60
User Time [sec] (Max) : 16.715202 (Exe.R 40.34 %) (Par.E 99.76 %) ... (n)
(Total) : 133.404793 (Exe.R 84.37 %)
(0-2) : 16.715202 16.696189 16.696424
(3-5) : 16.686933 16.676125 16.628834
(6-7) : 16.658848 16.646238
LD/ST : 14515370640 (Exe.R 73.81 %) (Par.E 55.15 %) ... (0)
(Max) : 3289803360
(0-2) : 338008440 759905820 1181780460
(3-5) : 1603655820 2025530460 2447405820
(6-7) : 2869280460 3289803360
Instruction count : 42336068702 (Exe.R 78.45 %) (Par.E 54.46 %) ... (p)
(Max) : 9718106245
(0-2) : 862837067 2128491918 3394106080
(3-5) : 4659715533 5925324577 7190937140
(6-7) : 8456550142 9718106245
Floating-point arithmetic count : 24615347091 (Exe.R 82.42 %) (Par.E 53.98 %) ... (q)
(Max) : 5699788956
(0-2) : 452245571 1202239525 1952233217
(3-5) : 2702223719 3452212981 4202205309
(6-7) : 4952197813 5699788956
213 SUB2
2.13 (o) (q) Parallel efficiency 50% suB2
IP sub2.f 2.12

DO 20 DO 30 DO 30 L@J) DO




20 J L suBl 28 L=l
DO 20 DO 20 =NN/500-1
19999 21 MAIN NN=10000000
IP DO 20 DO30 2.3
23 IP D020 DO30
IP D020 DO30 L)
0 L(1)=1
0 L(2)=2
0 L(3)=3
0
0 2500 L(2500)=2500
1 2501 L(2501)=2501
1 2502 L(2502)=2502
7 19998 L(19998)=19998
19999(=NN/500-1) L(19999)=19999
2.3 IPO D030 IP7
IP
2.4 IP
24 P
IP D020 DO30 L(J)
0 L(1)=1
L(2)=2
L(3)=3
2500 L(2500)=2500
2501 L(2501)=2501
2502 L(2502)=2502
19998 L(19998)=19998

19999(=NN/500-1)

L(19999)=19999

2.4




*poption cyclic
sub2.f
2.14

SUBROUTINE SUB2(NN,A,B,C,L)

IMPLICIT REAL*8 (A-H,0-2)

DIMENSION A(NN),B(NN),C(NN) ,L(NN)
*poption cyclic

**

** : _parallel_func_1 SUB2
**
*x I : TLOCAL
DO 20 J=1,NN/500-1
C(J)=0.0D0
**%
folad [DO 30]
** (8 )
**
**
DO 30 1=1,L(J)
C(I)=C(I)+A(DH+B(D)
30 CONTINUE
20 CONTINUE
c
**
**
** ___ —_—
**
**
o [DO 40]
*% (8 )

**

**x

DO 40 J=NN/500, NN
C(J)=AQ)+B(J)
40 CONTINUE
RETURN
END

2.14

D020
DO IP
*poption cyclic
-Xparmonitor
2.15

sub2.log

< Function Information >
Function name - SUB2
Source file name : sub2.f




Line no. 5
Execution count : 60
0-2) : 60 0 0
(3-5) : 0 0 0
(6-7) : 0 0
User Time [sec] (Max) : 0.004152 (Exe.R 0.01 %) (Par.E 12.50 %) ... (r)
< Parallel Information >
Function name : SUB2
Source file name > sub2.f
Line no. : 5
Execution count : 480
(0-2) : 60 60 60
(3-5) : 60 60 60
(6-7) : 60 60
User Time [sec] (Max) : 8.597627 (Exe.R 25.89 %) (Par.E 99.91 %) ... (s)
(Total) : 68.717576 (Exe.R 73.63 %)
(0-2) : 8.593819 8.587522 8.589850
(3-5) : 8.597390 8.597627 8.569606
(6-7) : 8.592853 8.588908
LD/ST : 14515370640 (Exe.R 73.81 %) (Par.E 99.94 %) ... (t)
(Max) : 1815508920
(0-2) : 1813708920 1814008980 1814308920
(3-5) : 1814608980 1814908920 1815208980
(6-7) : 1815508920 1813108020
Instruction count : 42335801840 (Exe.R 78.45 %) (Par.E 99.95 %) ... (v
Max) : 5294788341
(0-2) : 5290288392 5291037595 5291788227
(3-5) : 5292537618 5293288691 5294038040
(6-7) : 5294788341 5288034936
Floating-point arithmetic count : 24615355996 (Exe.R 82.42 %) (Par.E 99.97 %) ... (V)
(Max) : 3077969654
(0-2) : 3076169456 3076469623 3076769736
(3-5) : 3077069458 3077369864 3077669582
(6-7) : 3077969654 3075868623
2.15 SUB2
215 (s) (v) Parallel efficiency 100% SUB2
1P
SuUB2 215 (r) (s)
2.1 25
25 SUB2
[sec] [sec]
SUB2 16.824714 8.601779
2.3 SUBS3
2.1 SUB3 18.47[%]




sub3.log DO

XX

**
**
**
**
**

**

SUBROUTINE SUB3(NN,A,B,C,L)
DIMENSION A(NN),B(NN),C(NN),L(NN)

B :

[D0 50]
“ )

DO 50 1=1,NN
B(L(D)=C(D+A(D)
50 CONTINUE
RETURN
END

2.16 sub3.log

DO 50

B L SUB1

*poption indep(b)

sub3.f

2.17
-Xparmonitor

2.8

L(1)=I

SUBROUTINE SUB3(NN,A,B,C,L)
DIMENSION A(NN),B(NN),C(NN),L(NN)

*poption indep(b)

**%

**%

**%

**%

**

: _parallel_func_1 SUB3

**  [DO 50]
*k (4 )
DO 50 1=1,NN
BCL(D)=C(D+A(D)
50 CONTINUE
RETURN
END
2.17 sub3.log




2.17 DO 50

SUB3
2.18
< Function Information >
Function name - SUB3
Source file name : sub3.f
Line no. : 4
Execution count : 60
(0-2) : 60 0 0
(3-5) : 0 0 0
(6-7) : 0 0
User Time [sec] (Max) : 0.003723 (Exe.R 0.01 %) (Par.E 12.50 %) ... (w)
< Parallel Information >
Function name : SUB3
Source file name : sub3.f
Line no. : 4
Execution count : 480
(0-2) : 60 60 60
(3-5) : 60 60 60
(6-7) : 60 60
User Time [sec] (Max) : 1.244504 (Exe.R 4.73 %) (Par.E 99.76 %) ... (X)
(Total) : 9.932619 (Exe.R 28.39 %)
(0-2) : 1.244418 1.238768 1.244396
(3-5) : 1.238705 1.244504 1.238741
(6-7) : 1.244450 1.238638
LD/ST : 2456284320 (Exe.R 35.27 %) (Par.E 100.00 %) ... (y)
(Max) : 307035540
(0-2) : 307035540 307035540 307035540
(3-5) : 307035540 307035540 307035540
(6-7) : 307035540 307035540
Instruction count : 3881334762 (Exe.R 22.94 %) (Par.E 100.00 %) ... (2)
(Max) : 485166948
(0-2) : 485166791 485166768 485166849
(3-5) : 485166776 485166898 485166948
(6-7) : 485166904 485166828
Floating-point arithmetic count : 599993855 (Exe.R  7.21 %) (Par.E 100.00 %) ... (aa)
(Max) : 74999292
(0-2) : 74999240 74999176 74999228
(3-5) : 74999241 74999241 74999292
(6-7) : 74999212 74999225
2.18 SUB3
2.18 (y) (aa) Parallel efficiency  100.00 % SUB3
1P
SUB3 218 (w) (X

2.1 2.6




2.6 SUB3

[sec] [sec]

SUB3 9.861240 1.248227

24 SUB4

2.1 SuUB4 18.44[%]
sub4.log DO

**%

**

**

**

**

**

**

**

**

**

**x

**x

**x

**%

**%

SUBROUTINE SUB4(NN,A,B,C,D,NN2)
IMPLICIT REAL*8 (A-H,0-Z)
DIMENSION A(NN),B(NN),C(NN)
DIMENSION D(NN2)

: _parallel_func_1 SUB4
I : TLOCAL

[DO 60]
@ )

DO 60 J=1,NN2
D(J)=0.0D0

[D0 70]
@ )

DO 70 1=1,NN
D(J)=D@)+I*(C(D)+A(D)+B(I))
70 CONTINUE
60 CONTINUE
RETURN
END

or

2.19 sub4.log

SUB4 -Xparmonit
2.20




< Parallel Information >

Function name : SuB4

Source file name > sub4._f

Line no. : 5

Execution count : 480
(0-2) : 60 60 60
(3-5) : 60 60 60
(6-7) : 60 60

User Time [sec] (Max) : 9.847847 (Exe.R 36.08 %) (Par.E 37.50 %)

(Total) : 29.542075 (Exe.R 62.87 %)

(0-2) : 9.847787 9.845204 9.847847
(3-5) : 0.000236 0.000250 0.000250
(6-7) : 0.000250 0.000251

LD/ST : 6075030240 (Exe.R 68.53 %) (Par.E 37.50 %) ... (ab)
(Max) : 2025004980
(0-2) : 2025004980 2025004980 2025004980
(3-5) : 3060 3060 3060
(6-7) : 3060 3060

Instruction count : 15075044863 (Exe.R 63.94 %) (Par.E 37.50 %) ... (ac)
(Max) : 5025004736
(0-2) : 5025004736 5025004310 5025003686
(3-5) : 6430 6429 6423
(6-7) : 6423 6426

Floating-point arithmetic count : 7199945473 (Exe.R 57.14 %) (Par.E 37.50 %) ... (ad)
(Max) : 2399981970
(0-2) : 2399981970 2399981711 2399981792
(3-5) : 0 0 0
(6-7) : 0 0

220 SUB4
2.20 (ab) (ad) Parallel efficiency 37.5% suB4
IP IPO
IP1 1P2
sub4.log 2.19 DO 60
DO60 NN2 MAIN NN2=3

DO60 3 IP

DO60 *poption
noparallel sub4.f
2.21

SUBROUTINE SUB4(NN,A,B,C,D,NN2)
IMPLICIT REAL*8 (A-H,0-2)
DIMENSION A(NN),B(NN),C(NN)
DIMENSION D(NN2)

*poption noparallel

**x




**

: _parallel_func_1 SUB4

XX
**
= @ )
**
DO 60 J=1,NN2
D(J)=0.0D0
**
**
wx D : (Sum)
*k ___ —_—
*k ___ —_—
*%*
*%*
w* [DO 70]
= G )
**
**
DO 70 I=1,NN
D(J)=D(I)+I*(C(DH+A(D)+B(I))
70 CONTINUE
60 CONTINUE
RETURN
END
2.21 sub4.log
DO60 DO70
-Xparmonitor
2.22
< Function Information >
Function name : SUB4
Source file name I sub4.f
Line no. : 6
Execution count : 60
(0-2) : 60 0 0
(3-5) : 0 0 0
(6-7) : 0 0
User Time [sec] (Max) : 0.000689 (Exe.R 0.00 %) (Par.E 12.50 %)... (ae)
< Parallel Information >
Function name : SuB4
Source file name : sub4.f
Line no. : 6
Execution count : 480
(0-2) : 60 60 60
(3-5) : 60 60 60
(6-7) : 60 60
User Time [sec] (Max) : 2.478543 (Exe.R 12.56 %) (Par.E 99.97 %)... (af)
(Total) : 19.821631 (Exe.R 53.45 %)

(0-2) :

2.477562 2.478334 2.477469




3-5) : 2.478446 2.477133 2.478543

(6-7) : 2.476626 2477519
LD/ST : 3037597500 (Exe.R 52.12 %) (Par.E 100.00 %)... (ag)
(Max) : 379702680
(0-2) : 379702680 379699260 379699260
(3-5) : 379699260 379699260 379699260
(6-7) : 379699260 379699260
Instruction count : 8887694731 (Exe.R 51.11 %) (Par.E 100.00 %)... (ah)
Max) : 1110965942
(0-2) : 1110965942 1110961524 1110961211
(3-5) : 1110961401 1110960977 1110961386
(6-7) : 1110960989 1110961301
Floating-point arithmetic count : 7199928622 (Exe.R 57.14 %) (Par.E 100.00 %)... (ai)
(Max) : 899992219
(0-2) : 899992219 899991078 899990737
(3-5) : 899991036 899990760 899991094
(6-7) : 899990769 899990929
222 SUB4
222 (ag) (ai) Parallel efficiency  100.00 % SUB4
IP
SuB4 222 (ae)
(af) 2.1
2.7
2.7 SUB4
[sec] [sec]
SUB4 9.848676 2.479232
25
4 SR8000

-Xfuncmonitor

2.23

(Exe.R %)  :Execution ratio

(Par.E %) :Parallel efficiency

(Max. total):Total of the Max User Time for each info (=CPU elapse time).
< Process Information >

Node no. : 0

Process no. : 25465

Load file name : sample

User Time [sec] (Max. total) : 18.549709 (Par.E 12.50 %)... (ai)

< Function Information >
Function name > MAIN
Source file name : sample.f




Line no.
Execution count

User Time [sec]

Function Information >
Function name

Source file name

Line no.

Execution count

User Time [sec]

Function Information >
Function name

Source file name

Line no.

Execution count

User Time [sec]

Function Information >
Function name

Source file name

Line no.

Execution count

User Time [sec]

Function Information >
Function name

Source file name

Line no.

Execution count

User Time [sec]

Function Information >
Function name

Source file name

Line no.

(0-2) :
(3-5) :
(6-7) :
(Max) :

: SUB1
: subl.f

0-2) :
(3-5) :
(6-7) :
(Max) :

- SUB2
o sub2.f

(0-2) :
(3-5) :
(6-7) :
(Max) :

: SUB3
: sub3.f

(0-2) :
(3-5) :
(6-7) :
(Max) :

: SUB4
: sub4.f

(0-2) :
(3-5) :
(6-7) :
Max) :

: SUB5
: sub5.f

0
0
0
0.010676 (Exe.R 0.06 %) (Par.E 12.50 %)... (aj)

O O F -

5
60
60 0
0 0
0 0

4.935179 (Exe.R 26.61 %) (Par.E 12.50 %)... (ak)

5
60
60 0
0 0
0 0

10.163891 (Exe.R 54.79 %) (Par.E 12.50 %)... (al)

4
60

60 0
0 0
0 0

1.231606 (Exe.R  6.64 %) (Par.E 12.50 %)... (am)

6
60
60 0
0 0
0 0

2.207958 (Exe.R 11.90 %) (Par.E 12.50 %)... (an)




Execution count : 60
(0-2) : 60 0 0
(3-5) : 0 0 0
(6-7) : 0 0
User Time [sec] (Max) : 0.000398 (Exe.R  0.00 %) (Par.E 12.50 %)... (ao0)
2.23
2.23 (aj) (ao
3 1
2.8
[sec] [sec]
MAIN 0.023781 0.010676
SuUB1 16.845119 4935179
SUB2 16.824714 10.163891
SUB3 9.861240 1.231606
SUB4 9.848676 2.207958
SUBS5 0.000381 0.000398
53.403911 18.549709
3.1
-Xfuncmonitor
3.1 RETURN
a b
CPU
SUBROUTINE TEST(IFLG,A,B)
IMPLICIT REAL*8 (A-H,0-2)
DIMENSION A(100),B(100)
c | ( a ) |
IF (IFLG.NE.O) THEN
WRITE(6,*) ’'Error’
STOP
END IF
C
DO 10 1=1,100
A(D=B(I)
10 CONTINUE |
c | ( b ) |




RETURN
END

3.1 -Xfuncmonitor

3.1 IFLG=0
b
STOP

3.2.

1

LD/ST Instruction count
LD/ST Instruction count

1)
3.2 3.3 2

REAL*8 A(1000000),B(1000000),C(1000000),S
$=0.0D0
DO 10 1=1,1000000
A(1)=DBLE(I)
B(1)=3.0D0
10 CONTINUE
DO 20 1=1,1000000
CALL DIVISIONCA(D),B(1),C(1))
20 CONTINUE
DO 30 1=1,1000000
S=S+C(1)
30 CONTINUE
STOP
END

3.2 samplel.f

SUBROUTINE DIVISION(A,B,C)
REAL*8 A,B,C

C=A/B

RETURN

END

3.3 sampleldiv.f

(1-1)
prompt> f77 -0ss -procnum=8 -c samplel.f -Xfuncmonitor
prompt> f77 -0ss -procnum=8 -c sampleldiv.f



prompt> f77 samplel.o sampleldiv.o -Ipl -parallel -0 samplel

3.4

(Exe.R %)  :Execution ratio

(Par.E %) :Parallel efficiency

(Max. total):Total of the Max User Time for each info (=CPU elapse time).
< Process Information >

Node no. : 0

Process no. : 6653

Load file name : samplel

User Time [sec] (Max. total) : 0.090338 (Par.E 12.50 %) ... (a)

(Total) : 0.090338

(Max) : 0.090338
(0-2) : 0.090338 0.000000 0.000000
(3-5) : 0.000000 0.000000 0.000000
(6-7) : 0.000000 0.000000

LD/ST : 4319348 (Par.E 12.50 %)
(Max) : 4319348
(0-2) : 4319348 0 0
(3-5) : 0 0 0
(6-7) : 0 0

Instruction count : 19147767 (Par.E 12.50 %)
(Max) : 19147767
(0-2) : 19147767 0 0
(3-5) : 0 0 0
(6-7) : 0 0

Floating-point arithmetic count : 1125012 (Par.E 12.50 %)
(Max) : 1125012
(0-2) : 1125012 0 0
(3-5) : 0 0 0
(6-7) : 0 0

MIPS : 211.957620
(0-2) : 211.957620 0.000000 0.000000

34 1

€)) 0.090338[sec]

(1-2) DIVISION
prompt> f77 -0ss -procnum=8 -c samplel.f -Xfuncmonitor
prompt> f77 -0ss -procnum=8 -c sampleldiv.f -Xfuncmonitor
prompt> f77 samplel.o sampleldiv.o -Ipl -parallel -0 samplel

35

(Exe.R %)  :Execution ratio
(Par.E %) :Parallel efficiency
(Max. total):Total of the Max User Time for each info (=CPU elapse time).
< Process Information >
Node no. : 0
Process no. : 6659




Load file name - samplel
User Time [sec] (Max. total) : 2.544390 (Par.E 12.50 %) ()
(Total) : 2.544390
(Max) : 2.544390
(0-2) : 2.544390 0.000000 0.000000
(3-5) : 0.000000 0.000000 0.000000
(6-7) : 0.000000 0.000000
LD/ST : 206315393 (Par.E 12.50 %)
(Max) : 206315393
(0-2) : 206315393 0 0
(3-5) : 0 0 0
(6-7) : 0 0
Instruction count : 356124999 (Par.E 12.50 %)
(Max) : 356124999
(0-2) : 356124999 0 0
(3-5) : 0 0 0
(6-7) : 0 0
Floating-point arithmetic count : 1125012 (Par.E 12.50 %)
(Max) : 1125012
(0-2) : 1125012 0 0
Function Information >
Function name > DIVISION
Source file name : sampleldiv.f
Line no. : 3
Execution count : 1000000 (c)
(0-2) : 1000000 0 0
(3-5) : 0 0 0
(6-7) : 0 0
User Time [sec] (Max) : 0.726724 (Exe.R 28.56 %) (Par.E 12.50 %)
(Total) : 0.726724 (Exe.R 28.56 %)
(0-2) : 0.726724 0.000000 0.000000
3-5) : 0.000000 0.000000 0.000000
6-7) : 0.000000 0.000000
3.5 2
(b) 2.544390[sec] (1-1)
0.090338[sec]
DIVISION 1,000,000
(2.544390[sec]- 0.090338[sec])/1000000 = 2.45[ sec]

-Xfuncmonitor




(2)

SUBROUTINE KEISAN(A,N)
REAL*8 A(8,1000000)
DO 110 J=1,1000000-2
DO 120 1=1,N
AC1,3+2)=A(1,J+1)+A(1,J)
120 CONTINUE
IF(A(8,J+2) .EQ.0) GOTO 130
110 CONTINUE
130 CONTINUE

RETURN
END
3.6 sample2.f
DO 120
DO 110 Q)
-Xparmonitor
SR8000




